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Problem quickname: 5220
L) Quick:
X 5220
Calculate the result and reduce it to lowest terms.
2 _ 2 _ 1 2 _ 2 _1 3 _ 3 _ 3
a) g +4=355= 13 b)g+2=15=3 )5+2=7 =1
1 1 _ 1 3.9_3 _ 3 T 47 _ 7
d)5_2_10_10 8)5 2_10_10 f>9 4_36_36
4 4 1 4 4 2 4 4 2
gsvd=9=5 hyg+2=5=3 7+2=1=7
-\ 4 _ 4 2
D 2=13=7%
27) Quick:
. 5220
Calculate the result and reduce it to lowest terms.
11 _ 11 11 11 9 9 _ 9 _ 9
a) 7~ 1= =10~ 1 b)§+2=15=1 = 15
19 _ 19 _ 19 _ 19 2 .42 _ 1 _ 1
C)ﬁ_4_68_68_68 d>15 4_60_30_30
4 4 4 _ 4 10 10 _ 5 _ 5
¢)3+FO=15=15= 15 Ha+~2=p=0=1
3 3 _3_ 11 17 . 17 _ 17 _ 17
g1 T2=5=5=13 h) g +7T=G=6~
a3 3 1 _ 1 19 19 _ 19 _ 19
i 3=13=1=1 D 4= a~=a~wu
37) Quick:
A 5220
Calculate the result and reduce it to lowest terms.
16 . ¢ 16 _ 2 10 . o _ 10 _ 5 11 . 11 11
a) 95 +8 =500 = 35 b) o7 +2=51= o7 ¢) 97 14 = 575 = 373
17 . _ 17 17 9 . 9 _ 3 13 . 13 _ 13
d) g +4=g =3 €) 99 ~3= g7 = 39 f) 25 ~10 = 355 = 250
14 . »~_ 14 _ 2 18 18 _ 6 3 3 _1
8) o7~ T=15 = o7 h)gs+3=% =19 o ~6=133 =m0
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Calculate the result and reduce it to lowest terms.

8 _ 8 _ 4 _ 1 111
a) 7 2= 9 =17 = 11 b)1+7T=7=%=7
2 _ 2 _ 1 _ 1 2 ..r_2_2_2
)3 +8=101 =5 = 52 d)1+5=5=5=5
5 _ 5 _ 5 _ 5 7 A ¢
I3 = =1 =1 f)s+0=95=95 =25
3.9 __3 _1__1 3 .93 1 _ 1
g5 +3=15=5=53 h) 7 +9=1%6 =5 =&
11 .= _ 11 _ 11 _ 11 16 . 416 _ 4 _ 4
DR F95=6 =6 — 6 i1 4=5 =13~ 13
Good Luck!
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